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1.

SECTION-1
Qus -1
CHILD DEVELOPMENTAND PEDAGOGY
o o wa fremene
There are 30 questions in this section.
All questions are compulsory.
THEUSH FT 30 T E |
ity AfaE T

According to Jean Piaget a child in formal operational stage is -

(A) capable of abstract, hypothetico deductive and propositional Thinking
(B) Are bound by centration and inversion of thought

(C) Cannot conserve, classify and seriate

(D) Begin to engage in make-believe and Symbolic Play

St TSt 3 STER e STu=ies disharcTes sTewen H-

(A) 319d we ufipfeua dfcheran oiR wfaafa foia e o el 7 |

(B) =Tl Ta STGRAI 9§ 315 B |

(C) T&vT, TTTRT0r & Fuliegal hid H Herm e § |

(D) FefehIceh 3T Tichfash Sl H T oF1 IR i € |

While writing, a child uses his whole plam before using his fingers. This process reflects which principle

of development.
(A) Specific to General Progress (B) Cephalocaudal
(C) Proximodistal (D) Irregular progress

fore T foreht seten 510 9 = Ui 9 gehe & faw Snfal & 3wt | qd o7 q¥ 31 o 9N forehr
foret fogia =1 frefia sar 8 -

(A) fafere & amr= wraEt wifa (B) fatheirerigat wfd

(C) Mfreeifeea W (D) s i

P.T.O.
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3.

According to Urie Bronfenbrenner, social customs and cultural values are example of which of the

following ecological system-

(A) Microsystem (B) Mesosystem

(C) Exosystem (D) Macrosystem

T S TSI o AATTER HHITSToR YeTd Ue Tieahfaeh Ted siiersh o fohd wifeerfen 7 o 3SR ¢ -
(A) eTHvSE (B) meAwUSE

(C) = o= (D) Feq Tveel

Which of the following represents a characteristic of gifted child.
(A) Lacks reading fluency

(B) Can think of original solutions

(C) Tendency to get distracted easily

(D) Ability to learn quickly and independently

frofafe § & S fodma v afaummed stees & ¢ -
(A) 9 Y8 e H HH

(B) TiifcTeh THIEM! o o H W= S &7

(C) e & faaferd g &t stea

(D) 3Tl Ta T €9 9 WG &l IR

A person states his morality according to prevailing current social norms,rules and regulations. which of
the following is his level of morality as per Lawrence Kohlberg -

(A) Pre Conventional Level (B) Conventional Level

(C) Post Conventional Level (D) Non Conventional Level

Fgeer o STIER *AfTes faem ol e T atareen fod @E =afh o7+t Sfaerar <ol adam # y=fad s
ST 312 i 3 STTE Sfehar 7 i AfdehaT ol SIFET TR FET TR -

(A) g8 TR ®R (B) T &1

(C) 79 TIWTd &R (D) I TR =/

P.T.O.
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6. Which of the following is not a process through which meaningful learning occurs -
(A) Repetition and Practice
(B) Instruction and Direction
(C) Exploration and Interaction
(D) Memorization of facts and Rote learning
Frofafed o we ge ufsren =t & oo grr srefqof siferm =afeq dar g -
(A) T T o7
(B) frewr wdl gimer
(C) TREfih foer famef wa srarmm

(D) qeAi <l L1 TH hUSE Rl

7. Choose the incorrect statement -
(A) Human life begins with one single cell zygote.
(B) Gene 1s unit of heredity
(C) Heredity is an environmental reason which influences development
(D) Mendel 1s known as father of heredity
Freferiad el H | T e o =g hifs -
(A) TG STte 1 3T eld: Th Y IOl 9 Hfed 2 ¢ |
(B) ST 1 TSRl <kt FohrE HIAT Tl € |
(C) TFa faehrar o1 Y1 hi AT ST Ueh SIAeRvid R ¢ |
(D) HUSH I ST 1 SH% HT I € |

P.T.O.
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8.

10.

V/

Initiative v/s Guilt stage of Psychosocial Development by Erik Erikson is related to which of the following

stage of development.
(A) Infacy (B) Pre Childhood
(C) Later childhood (D) Adolescence

TR S FATEHISTR Tagid ol STaEe Ygol 9 19U sl ol el foashig ot fore S7aem | |1 ST Hehdl -

(A) SrrarerEe (B) I8 ScamerEe
(C) W AeaTeIET (D) feReiRrereen

Which of the following is not a characteristic of learing -

(A) learning makes relatively permanent changes in behaviour
(B) Learing 1s a continuous and acquired process

(C) Learning is always observable from outside

(D) Learning includes an experience in itself

rferTe ot forsrea gl ¢ -

(A) T & =aeR § 2 aTel IRed Tieshd Tt 21d ¥ |
(B) 31T ek Teq U efsia uiRar ¥ |

(C) =t weet siTey it e € |

(D) 1T § Tk YRR Al ST9E HiAford @ar g |

Highest stage of learning according to Robert Gagne 1s -

(A) Concept Learning (B) Problem Solving
(C) Chain Learning (D) Signal Learing
o T & T7aR AT o waife 'R T -

(A) T At (B) THE HHIEM
(C) 5@t e (D) Hehd SAfeRTH

P.T.O.
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11. Math the following and find correct answer.
List -

(Psychologist)

(a) Cattel

|

(b) Spearman

(c) Gardner

(d) Sternberg

Code :

(A)
(B)
(©
(D)

[NCRE ]

1

2
2

3
4

() Z

List - 11
(Concept)
1. General and Specific factor
2. Fluid and Crystallized Intelligence
3. Triarchic Theory of Intelligence
4. Multiple intelligence Theory

4
3

GAt-1 o P-11 & ghfad i ge o) Fe/3T & == hife-

=1

()

(a) R

(b) Tt i

(c) e
(d) T =t
%< 2

(A)
(B)
(©
(D)

[NCRE ]

gaAi-11I

(I9=)
1. HMEM TE foRIY Rk
2. FfIe wd frearsse g
3. 95 *1 erEenfhe fagia
4. sgdfg fagia

P.T.O.
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12. Which of the following is a symptom of dysprexia-

13.

(A) Difficulty in understanding alphabets

(B) Difficulty in mathematical calculations

(C) Difficulty in holding pen and writing

(D) Difficulty in pronounciation of words.
Frafafed # | S fesifammn & Aol § 9 T 8-
NERRIESEER RS |

(B) TIOT 701 SR H S

(C) T FaTq Tehs AR foray o o

(D) AT % SR hi THAT

A 17 Year old woman has been binging in large quantities of food, above and beyond, what most people
would eat under similar circumstances. She then engages in purging behavior as often as 3 or 4 times a
week. she feels she has no control over it. The results of her physical examination are normal and she is
normal weight.

She is most likely suffering from -

(A)Anorexia nervosa (B) Bulmia nervosa

(C) Bing eating disorder (D) None of these

Tk 17 I <! Higel FH aRfeta H stieepian <l 510 @y T SIS & Ak ST sifewrs 7 # JisH il wdl
€ 1 3HF A% 98 WH: HHE H 3 AT 4 IR A 32! L dl ¢ | 98 W™ Ll ¢ Toh 389 W SHehl 0 = ¢ |
3T Wi Site % g ar € iR as off T |

Afees e § o o fafafea 9 o= @ -
(A) TARfrE= At (B) sffcfian aiten
(C) fars-zfem fegatisx (D) 374 & g &l

P.T.O.
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14.

15.

) /

Choose the correct option from the following list.

List -1 List - 11
(Event) (Psychologist)
(a) Observation Learing 1. Skinner
(b) Cognitive Map 2. Vygotsky
(c) Association between different Stimulus 3. Bandura
(d) Learning Leads to Cognitive Develoment 4. Pavlov
Code :
a b C d
(A) 2 1 3 4
(B) 3 1 4 2
(©) 3 4 1 2
(D) 3 1 2 4
Gei-1 w1 Gei-11 9 Gaferd id g¢ HeEl e/t i =G whifsie-
-1 -1
(=) QEICEIRED
(a) Gegor SAferH 1. T
(b) HHTHS HH=E (Cognitive map) 2. ATcEh!
(c) o= 3SEITT 1 = 3. AU
(d) SfeRT T foshr i 3TR o ST 2 | 4. QAT
%< 2
a b C d
(A) 2 1 3 4
(B) 3 1 4 2
(©) 3 4 1 2
(D) 3 1 2 4
Which one of the following is not a correct way of stimulating creative thinking ?
(A) Brain-Storming (B) Keep a diary
(C) Mind-Mapping (D) Offer Money
frroferfaa o | -9 Tk gorrce Toa i Yicdied i ol Tet el T2 & -
(A) -T2 (B) Sl W&
(C) Hi&Tsh Ficehfdeton (D) & =l g&aTe Tl

P.T.O.


https://www.print-driver.com/?demolabel-en

ST-1 (10) Z

16.

17.

18.

19.

From among the following who theorized mostly on the concept of 'Achievement Motivation'-

(A) Rogers, C.R. (B) Julian Rotter ~ (C) David Mc Clelland (D) Victor Frankl
o o 9 fore ‘ Suafes stfriwon’ & dyerd fagia fwion w stfeenierd: e e -

(A) 5, Ht 3R (B) SIfera WX (C) Sfore Hamttervs (D) foraex Thehe
Bandura's social learning theory had the main focus on -

(A) Moral emotion (B) Moral Reasoning

(C) Moral Behaviour (D) Moral Emotion and Reasoning
SMUGY % TSI STferm fagia o1 TE F=5 ? -

(A) Afaes damT (B) Afqsw ah

(C) Afqer =Fa_R (D) e Ham aeh

According to NCF 2005, what is proper way of evaluation of students of class 1 & 2-

(A) By written examination (B) By oral examination

(C) By both oral and written examination (D) By observation

TAHT. TH 2005 i Wi o ATHR, HE Tk o HEl < o fonieai o fae geaish s e 21 =1ieq -
(A) faflad adieron & TR 91X (B) HifEeh &0 & SR W

(C) fafaa wa Hifas Teo & STER (D) Y07 % IR W

According to NCF 2005, what comments have been made on textbook in systematic reforms section?
(A) Text book selection and writing must be given to one subject expert

(B) Only feedback of teacher should be considered while preparing textbooks

(C) Libraries should be shared between different schools

(D) All of the above

T IISI= bt S9N 2005 F ST=Id ATHITG GoRi H WSTq&deh i weht a1 fewuit o 7 ¢ 2

(A) TISIIET Tl =97 Ta o TRl Tk o foriorat &1 o1 =g |

(B) TSI ST H 3TEATIh 1 &1 Thigsidh ol ST =fe T |

(C) fafel Thedl o Hed GEehlerdl shl | fohal ST =T |

(D) 318 | a4l

P.T.O.
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20.

21.

22.

23.

First stage of Action Research process -

(A) Formulation of Action Hypothesis (B) Action Programme

(C) Identification of the Problem (D) Defining and Delimiting of Problem
TShaTceh STTEH i WfshAT o1 JoH =0T § -

(A) Tsrarerer qferedT o o (B) 9 ki fsharaa

(C) 991 &t T8 (D) 1 Shl GRS T Hidieh

According to RTE 2009, minimum teaching hours at Upper Primary Level are -

(A) 800 Teaching hours (B) 1000 Teaching hours

(C) 1200 Teaching hours (D) 1500 Teaching hours

e =1 SRR srfarfrem, 2000 # T Aaforr a6 § 3= Mefies TR W fRa Aa Aefires wuel w1 S
o T E -

(A) 800 Taregur Hyue (B) 1000 frefor s

(C) 1200 TRregor =ue (D) 1500 Tereror Hroe

A test formulated to test the developed skill and knowledge of child is called -

(A) Diagnostic Test (B) Achievement Test

(C) Sociometry Test (D) Norm Reference Test
foremefl % forsmfa shivre qem I ol T FEAw © -

(A) TeTen Tl (B) SUcTs qteqor

(C) TSI T (D) |k Tad qer

Many commissions have recommended increasing of internal exam so as to reform education because -
(A) They are more impartial. (B) They are more Legitimate and reliable.

(C) They evaluate all aspects. (D) This evaluation is neutral.

e T goR o forg fafve sTreimt 1 fawRel § sTiaies Sl i e sigH @i Fawmist i 7. 2 Fiifh TR
-

(A) 3TfireR Fraer St 2 1 (B) =1freh 9 wal fovaa g gt 2 |

(C) Teft Tedl ol Jeioh il ¢ | (D) 9% Yeaish T BT ¢ |

P.T.O.
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24.

25.

26.

Choose the incorrect statement with respect to psychoanalytics given by sigmund freud.

(A) Id deals with immediate gratification of primitive needs and sexual desires.

(B) Analysis of forgetting, mispronounciation and jokes provide us with a means to approach the
unconscious.

(C) Defence Mechanism given by freud is a way for Id to deal with the uncomfortable feeling Produced
by anxiety

(D) According to freud, the core aspect of personality are established early and remain stable throughout
life.

TS 6 FAIIRCITUTEs o Sae o 378 o ¢ -

(A) 35U 1 Gaiel AH i A STavarshareil R wH=sei 4 |

(B) faemvn, 3135 S=IRvT, ATk 1S 3T qeh Ug = o1 | T |

(C) WIS G 9gH & BT giveal gRI Scuel STfIEISHE A6t & 30 % sidiel P i alehl ¢ |

(D) T % 3TIHR Afhd % AT vt TR T Tenfd 21 9 § 2R s wof=q feer o wa € 1

Choose the incorrect pair -

(A) Sheldon . Classification based on Physical Structure

(B) Spranger  : Classification based on Social Attributes

(C) Hippocrates :  Classification based on Psychological Features
(D) Canon . Classification based on Endocrine Glands
Tgafer Sifed -

(A) Seed : VReR G % STER W SRR

(B) BI=R : WIS TON o STER T SR

(C) feudishe®  :  TIGRAATR TN o STER T SRl

(D) & ;A el TifeRl o STTER IR SRl

How many cards are used on a single person in Thematic Appreciation Test.

(A) 30 (B) 20
(C) 10 (D) 5
T stremeter adteror H Tk Afe W o foha 1S T H o1 § -
(A) 30 (B) 20
(C) 10 (D)5

P.T.O.
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27.

28.

29.

30.

Which of the following is a demrit of verbal Group Intelligence Test -

(A) There are possibilities of cheating in these test.

(B) Examiner feels diffculty in control and management while administering these tests.
(C) Examiner does not get time to get acquainted with one personal feelings of examinee.
(D) All of the above

Frfafaa § § wniss arfes Tig FIav e -

(A) 39 &I01 H Tohe bt HTeHT o1 et ¢ |

(B) 9 9107 H qtersh gRI Yeie o T § orgfaen e ¥

(C) wrgfeen aderor § el sl it sramrsti & aRfed B 1 ST 81 fHeran |

(D) 39 |+t

Which of the following is not direct method of adjustment.

(A) Sublimation (B) Rationalization

(C) Repression (D) None of the above

TS i Y4 g 181 § -

(A) ST (B) UE=RLT

(C) = (D) 374 & hrg T

Which of the following is not a reason behind child deliquency -

(A) Strict Discipling by Parents (B) Organizing co-curricular activities in school.
(C) Facing physical and Genetic defects (D) Poor economic condition

frofarfaa & & s sTare o R 1T § -

(A) T faT R SR STIRITEH (B) forenera # g ifaer Tfafafem s e
(C) YRRt & STaifeeR 2 § ufid g (D) HSIR e feafa

Individual Differences can be studied by -

(A) Achievement tests (B) Personality tests
(C) Aptitude Tests (D) All of the above.
AT FH=TaT T STeara feRan <1 Hehdl § -

(A) Sqdisd qde g (B) Sfhe T8eIm 510
(C) ST e gRy (D) S T+t

P.T.O.
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31.

32.

33.

34.

35.

(14) Z

que -1
e - 1
fe=t
THEUSH FT 30 T E |
[ty AfEE ¥ |

frder: Freafafaa Terier o MR WX U9 |& 31 | 35 Ak oh 3T alfau-
- gafad STamR! 2R Siehrstl % rem | YR % UTEH HeThed- JHE IR TRIRA iR 3177 Ty off
ST o S Q-G Ak UG & | T HSAT, el 3R STehT ek 372, e e T 3ifohd o oIR 397 3% 99§
3R T M1 o1 | 3T9E UTHT ol Tehel UG A1 & SR 3T Sa=id 3 QR o SR a1 1 3¢ 35 d i
& =1 TR foprelt T=iie T o gfera forelt Wt spamit ot Sooia i & Fad g ek 3uewr fekaran 211
JoTRE 1 it % Tt o oI o Wiefi-Tdt s 1 3 g < ST 39 g 1 Aifg fesh g o o d g9t
TR g AT BT o1 | Afg 1 79 o forfaa sfagm oI e giafeea aei & faftfq aeefill o «er ot

@ Y wegy foran foh o1ue foram & o § off e oTo aEelill o eR B |
"R H W © -

(A) T (B) AU

(©) f57 (D) Sigsitet

" YIsg kT Wit fa=ee BT

(A) TH + 31 (B) THI + 3701
(C) T + 3197 (D) T + 3T
= 3 9 pr-w v yoag @ a7

(A)‘cﬁiﬁfaﬁ (B)T\Fﬂ'\@ﬁ
(C)rve (D) e

e 8 e fadim g ad T 2

(A) Afaeh - 31l (B) <BTdT - T
(C) U= - 8= (D) T T T |
et o 9 e Sifdar=es g3 T8

(A) HETHId (B) T@wdt

(C) Uiy (D) U™

P.T.O.
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36.

37.

38.

39.

40.

41.

42.

43.

(15) Z

frder: Freafafaa Terier o MR WX U9 |& 36 | 39 Teh oh 3T alfau-

TR TR Ypia it Fordra Far T ¥ | Fet Tl gy 319 THE T 3 € @I qat et d%k SEidl 1 5Rqu ST
TR Wel-Thell BT G FRAT § | 4T TR a6 % U AIFER F HR0 o7 T TR 21 S | 981 Hw
TR femer shferai oh1 Ta1 & IR0 a1 371 @1 § 7R 9T i Afeal Hieiariont qel Sl W E | =1 i ou
3R AT T ATl &1 Ul | TR BATHY SiTe § @1 T8 hid ¢ | J&il | I <A1 Uk enfHeh bl e
T 1 SR == v e SR Afafaes wef § gy oe S g

RETReRdl W g Tehfa B fodie =it feam o © | Rt S § 9 ot STUeT ST b STfiek me e e
T | TAfCTT SHR IR Aehr A1eehl ot e € 1 atfafer s oft o A mn §- ¢ erfafer e s’

e 7§ e wisg © foreeRt 3= steran foi foredt oft uRRfRefa # 7@t agaar-

(A) #g (B) Trerft

O3 (D) %a

e B O sl visg SAfeT | o1 a B

(A) THfd (B) &1

(CO)*g (D) it

"R HAT ST § A S I 9 1" SR H hiE e ¢ |

(A) TH 9d (B) 3T a0

(C) ot ¥ (D) 31qef ¥d

A IR =% <9 T 3R Afafaer sl o 3 91 S € | Eifond ves o 3T B
(A) Frea fepam ST aren (B) fifira & feran < amen
(C) Tft= =& arem (D) frdi & fopan st amem
"1k T SIST TS TRY T ol el 1§ 1" ot T e v o1 forar 2-

(A) e 1 T 1% HEER

(C) el T & (D) =1 TS Th

3¢} T SR T 1 A 9E T € |

(A) TR A (B) TR A

(C) Faemeleh ==t (D) fast =R

" T T TS T w37 §-

(A) ot Ifg TR ST (B) FT &1 YT 7iet €1
(C)=8d TR & (D) 9T 1 TS BT
1 B 9 b T 2

(A) I 3TeR 9 TR (B) T 3R H R

(C) 3 =g st (D) ST T WY BT

P.T.O.
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44, IR0 IR -
A"’ B):-
©)= D)/

45, ‘TR HETd HH aTcl 319 3a SH! HH o4 T | {Wifehd Teae ¥ |
(A) TR0 ygag G RERIERECE]
(OREIRECE] (D) fshan ygsie

46. "9 AT ST YerRl T ST ST  foTT Ueees

(A) ST<TeRe (B) AR el
(C)afeshe (D) 3=
47. = @ e o v e R
(A) TRY (B) A1
(C) Tt (D) =
48. HATTHH AT ........... YT EaTe |
(A) a1 farer (B) g& ¥
(C) z1er ferem (D) fas oA
49, i, UG SFell-sheq TRTeqor Y SRTE Tamea W &iel <l & -
(A) Sleed (B) HIveHd
(C) feher e (D) SR
50. T foreror % vrearel Trse At faf g
(A) SgaeA fafy (B) = fafr
(C) e fafer (D) @ver fafy

51. 3T % B TG -
(A) Torer IIfg A1 STeReT— AN 3TTRaT
(B) freror ufshan 3 SR STRheH- T STTha
(C) 3T % ToTT, SATheT - HRIRICHE TR
(D) Veaforer Tfsha 9 Td ST % eIk T AT STTehel - TarsT 3TTehalT

P.T.O.
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52. OIS q&deh ol ST=INH O T -
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SECTION-II
LANGUAGE-1
ENGLISH
There are 30 questions in this section.
All questions are compulsory.

Direction (31-35) : Read the passage carefully and answer the questions that below:

Kashmir has been called the " Switzerland of india". It is a curious country shut in all sides by rocky
mountains. The scenery is so beautiful that the visitors from all parts of the world are attracted by it.
Through the chief of its valleys flows the Jhelum. This valley is so charmingly beautiful that it has long
had a world - wide fame. The great Moghuls used it as their summer residence and called it " The Heaven
of Earth". The air is sweet with the perfume of many miles of roses grown for making 'attar’ of roses, the
most costly performe of world. On the higher parts is reared the Kashmir goat, from the hair of which
are woven the costly shawls of Kashmir. It has a thick growth of forests, fruit trees break in clouds of
blossom and bend under luscious burden.

Which of the following words is a synonym for 'Fame' ?

(A) Popularity (B) Vitality

(C) Notoriousness (D) Visibility

The antonym of 'Heaven' is.
(A) Paradise (B) Hell
(C) Salvation (D) Sanatorium

Which of the following is correctly spelt word ?
(A) Expensive (B) Expansive
(C) Expansve (D) Expenseve

The verb 'Grow' can give us the noun....
(A) Grown (B) Growl
(C) Growth (D) Growable

Find the correct one word for the phrase given below-

' People visit distant areas for entertainment'.

(A) Moghals (B) Refugees
(C) Visitors (D) Beggars
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Read the passage carefully and answer the questions that follow :

Monika was very happy when she got a nice house in an area near her place of work. But her happiness
was short - lived. Her maid-servant began to bring some rumours of theft and other horrible
happenings in the neighbourhood. Since monika was alone in that house and still a stranger to the
place she decided to call her brother to come and stay with her for a few days. But he was very busy
with office work to be able to spare a few days leave. So, Monika became very nervous. She did not
know what she would do if any wrong happened. So, she took special care to hide her keys. Every
night she hid them at a different place. Her memory was very poor. She was afraid lest she should
forget where she had placed then. She also has an alarm fixed near her bed so that she could use it in

case of emergency:.

Which of the following options is an example of 'Distributive adjective' ?
(A) Every (B) Where
(C) Her (D) That

'Since Monika was alone ..........
The underlined verb-'was'is an example of.

(A) Modal Auxiliary verb (B) Verb in simple past
(C) Copulative verb (D) Verb in past perfect

In the phrase 'Some rumours of theft' the determiner used is....
(A) Some (B) Of
(C) Rumours (D) Theft

Conjunctions in the passage are.
(A)But, and (B) Still, to
(C) So, very (D) So that, of

The three degrees of the adjective 'happy' in their correct form are.
(A) Happy, More happy, Most happy

(B) Happy, Happier, Happiest

(C) Happy, Happier, Most Happy

(D) Happy, More happy, Happiest
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Which of the following sentences has the correct structure of question ?

(A) Had deposited you your amount ?
(C) Had you deposited your amount ?

(B) Had your amount you deposited ?
(D) Had you amount deposited your ?

The passive voice form of the sentence - 'Tknow him'....

will be.
(A) He 1s known by me.

(C) He was known to me.

(B) He has been known by me.
(D) He 1s known to me.

The indirect speech form of the sentence - Sita said to me,

" Can you give hermy pen ? "
(A) Sita asked me can 1 give her my pen.

(C) Sita asked me 1f 1 could give her her pen.

(B) Sita asked me if 1 can give you my pen.

(D) Sita asked me if 1 give her my pen.

Which of the following underlined sound 1s different ?

(A) Kite (B) Light
(C) Bite (D) Slim
English language sounds are classified into....

(A) 05 vowels and 21 consonants

(C) 24 consonants and 20 vowels

Principle of selection doesn't include....
(A) Frequency
(C) Testing

Bilingual method was invented by....
(A) Dell Hymes
(C) GA. Bright

The best order for learning English language is....

(A) Listening, Speaking, Reading, Writing
(C) Listening, Speaking, Writing, Reading

(B) 21 consonants and 21 vowels

(D) 20 consonants and vowels

(B) Range
(D) Coverage

(B) C.J. Dodson
(D) F.A. Billows

(B) Speaking, Listening, Reading, Writing
(D) Writing, Reading, Speaking, Listening
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Which maxim is not followed in the principle of teaching ?
(A) Known to unknown (B) Deductive to Inductive
(C) Simple to complex (D) Concrete to abstract

The number of graded structures in structural situational approach are-

(A) 75 (B) 275

(C) 175 (D) 375

'Syntactic' is the term used to refer to-

(A) The study of sounds (B) The study of meaning
(C) The study of structures (D) The study of grammar
Dictaphone and linguaphone are -

(A) Audio- visual aids (B) Audio aids
(C) Visual aids (D) None of these

Who gave the concept of formative and summative evaluation?
(A) Michael Seriven (B) Dell Hymes
(C) Noam Chomsky (D) F.A. Billows

Which of the following is not included in emotinoal skills under CCE ?
(A) Reduction in fear (B) Increase in learning

(C) Increase in empathy (D) Reduction in anger

The test based upon memory, previous knowlege and experience is....
(A) Diagnostic Test (B) Introductory Test
(C) Recall Type Test (D) Co-Scholastic Test

The assessment carried out at the end of a course is....
(A) Formative assessment (B) Summative assessment
(C)Both'A'& 'B' (D) None of these
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In the modern educational pattern, evaluation is a process.
(A) Monopolar (B) Tripolar
(C) Bipolar (D) Multipolar

Which one is not a technique of formative assessment ?

(A) Portfolio (B) Anecdotal record
(C) Cumulative record (D) Pen - Pencil test

In inductive method we proceed from -
(A) Complex to simple (B) Rule to example
(C) Simple to complex (D) Poetry to prose

The structural approach stresses on the importance of....
(A) Spelling of words (B) Vocabulary
(C) Fluency (D) Sentence structures
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SECTION-III
LANGUAGE-1I
ENGLISH
There are 30 questions in this section.
All questions are compulsory.

Direction (61-65): Read the following passage and answer the questions.

It is not luck but labour that makes man. Luck, says an American writer, is ever waiting for something to
form up ; labour with keen eyes and strong will always turn up something. Luck lies in bed and wishes the
postman would bring him news of legacy ; labour turns out six and with busy pen and ringing hammer lays
the foundation of competence. Luck whines, labour watches. Luck relies on chance, labour on character.
Luck slips downwards to self indulgence ; labour strides upwards and aspires to independence. The
conviction, therefore, is extending that intelligence is the mother of good luck. In other words, that a
man's success in life will be proportionate to his efforts, to his industry, to his attention to small things.
Which one of the statements is true about the passage.....

(A) Luck 1s necessary for success.

(B) Success depends only on hard luck.

(C) Expectation of good luck always meets with disappointment.

(D) Success 1s exactly proportionate to hard work.

Which one of the following is the most appropriate title for the passage ?
(A) Luck always favours. (B) Hard work is the key to success.
(C) Intellligence against diligence. (D) Competitive strategies.

In the above passage ' Therefore' indicates....
(A)Addition (B) Result
(C) Emphasis (D) Reason

"It 1s not luck but labour that makes man."

Find out the linking device in the above sentence.

(A) Labour (B) Luck
(C) But (D) Not
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Luck relies on chance but labour
(A) Rely (B) Do not rely
(C) Relies (D) Does not rely

Direction (66-68) : Read the poem carefully and answer the following questions :

"O young through all thy immemorial years !
Rise, Mother, rise, regenerate from thy gloom,
And, like a bride high - mated with the spheres,
Beget new glories from thine ageless womb !
Who will buy these delicate, bright

Rainbow - Tinted circles of light ?

Lustrous tokens of radiant lives,

For happy daughters and happy wives."

The rhyme scheme of the first four lines of the poem is.

(A) abab (B)abbd

(C) abed (D) abba

"Rise, mother, rise regenerate from thy gloom." contains an example of.
(A) Simile (B) Metaphor

(C) Alliteration (D) Pun

In line no.03, we find an example of -

(A) Simile (B) Consonance
(C) Metaphor (D) Allegory

Assonance 1s :

(A) Repetition of consonant sounds

(B) Repetition of vowel sounds in closely associated words
(C) Repetition of both vowel sounds and consonant sounds

(D) None of the above

P.T.O.
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70. " Truth sits upon the lips of dying man". is an example of -
(A) Simile (B) Personification
(C) Allitreration (D) Pun

71. Anomalous finites are :

(A) 24 (B) 13
O n (D) 22
72. Godbless Monika with a daughter ! (Prayer)
Fill in the blank with the appropriate modal.
(A)Can (B) Might
(C)May (D) Should

73. Find out the incorrect statement.
(A) Drama 1s the representation of the action on the stage.
(B) Drama 1s the presentation and performance of plays for the theatre.
(C) A drama has a plot, characters, dialogues and an outlook on life.
(D) A dramatist speaks through his characters.

74. Petrarchan sonnets are in the form of :

(A) Three quatrains and a couplet (B) An octave and a sestet
(C)Both'A'and 'B' (D) None of these
75. Ancelegyis:
(A) Amourning song (B) Areligious song
(C) Ajoyous song (D) A spiritual song

76. The full form of IPA is-
(A) Italian phonetic Association (B) Indian Phonetic Alphabet
(C) International Phonetic Alphabet (D) International Police Association

P.T.O.
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The first sound in the word 'Psychology’ is transcribed as -
(A)/p/ (B) /s/
(C) /ai/ (D) /a:/

Which is the correct transcription of the last sound in the word 'to' ?
(A) v/ (B) /o/
O n (D) ha:/

Pick out the correct transcription of the word 'English' :
(A) /ngllf/ (B) /Inglls/
(C) Mingllf/ (D) /Iylls/

Which of the following is the correct transcription of the word "Vowel' ?

(A) /VDVAI/ (B) /vaual/
©) /va:VAl/ (D) /VvDVal/

Which is the latest and recent approach of teaching English ?
(A) Structural Approach

(B) Communicative Language Teaching (CLT)

(C) Situational Approach

(D) None of these

The role of teacher in 'CLT"1s -

(A) Instructor (B) Commander
(C) Facilitator (D) All of these
'A home language'is a language.

(A) Family (B) Alien

(C) Target (D) Rural

P.T.O.
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37.

38.

89.

90.

37

The term 'Multilingualism' gives stress on :
(A) Academic Process (B) Socio - Cultural Process

(C) Professional Process (D) Thematic Process

A class VI student makes mistakes in spellings. As a teacher, you would
(A) Avoid the mistakes

(B) Say him/her to consult a dictionary

(C) Show him / her his mistakes and ask to write and pronounce again.

(D) Ask him / her to speak / write another spelling.

'Remedial Teaching' is given to.
(A) Slow learners (B) Extra-ordinary learners
(C) Average learners (D) None of these

The usual procedure of 'Remedial Teaching'is.
(A) Teach —» Test — Re - Test
(C) Test —» Teach —» Re - Teach

The most reliable questions are :
(A) Essay Type (B) Objective Type
(C) Short Answer Type (D) All of the above

A learner is promoted on the basis of :
(A) Formative Assessment (B) Remedial Teaching

(C) Summative Assessment (D) Diagnostic Test

Continouns and comprehensive evaluation stresses upon :
(A) Teacher centered education

(C) Curriculum centered education

(B) Test —» Teach — Re - Test
(D) Teach —» Test — Re - Teach

(B) Learner centered education

(D) Direction centered education
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62.

63. °

64.
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(38) Z

©us - 111
HET - 11
HEhH
373 5o g i |
Td YT THIER: |

frder: sreifeiad Tenem et 61 A: 65 W= WY THISAT: -

TRATSH T4 : T34 : ARATSE JaTq: S 1 Jo | TS T Teronyar 56 e S 7 ST haa | 37
S ST TSI AUSR SANad | Iaraed ST, foega: e 3fa Imgde wo: 99 | STRa: Taasan
TARATS I, TR RS- HHTE STETaT | T T TH: T T SThaed STEdi fRehel Ted ARareH A= |
3THER: I AETE el Ta=xaTH STTERA: HiTerM WA Toasdm: A=a=<dl a4l ATV TRaTS,

‘TS’ oTe Wiy foess: W -

(A) T + Afg (B) TH: + 34
(C©)wi + fa (D) wdl: + 3Afy
I’ 3 % Id:?

(A)aq (B) 7aq

(C) 3 (D) =g

TR STl 5 TSI -

(A) TIgsiife: (B) sTeadiE:
(C) ®HERA: (D) s=:
AT Tegye A -

(A) = (B) s

(C) = (D) Tu:
Hfrrr " s o fawfaa?

(A) 9 (B) feftan

(C) ot (D) Tt
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67.

68.

69.
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71.

(39)

T or: renfafEd a=isr ufser UoAT: 66 d: 70 W1 WHILET: -

U =reHE e s e W T |

L G e s FRe IRa- g9 g =i ||
"Ry g HiERTE -

(A) a9 (B)
(©) Tt (D) 9f5:

IR L NI T O Y

(A) T3 (B) ¥

(C) 3= (D) =@
‘e 3 TS e -

(A) foram, (B) =re
(C) w= (D) wferem
YeTeRs T &=l add -

(A) F5asT (B) U=
(C) Susirfat: (D) a9y

IRTETY 39T h: HHM:?

INECRIEICE (B) dcqeN:

(C) =igilfe: (D) FHERA:
TEIEAE YA RieorgE -

(A) TR Hfo i (B) N 3T Fidt
(C) Toreeroond Egervoi gfd (D) 3R &
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74.

75.

76.

(40)

T e forgd-

1. YUSRAPR I TEashgd foTfaay-AmTu< TRl Hehaufea=i: Tafime = |
2. gt gy wan: g : vafa

3. AfoaTs fael SET g w6 : fowmr wafd |

4. A PR S FHEYLH |
(A) e 1, 4 (B) et 2, 4
(C)haai 1,3, 4 (D) 3uftad od

TEHRIE SR {8l : STTHRII-

(A) ¥ 3TEATYH: TV ARG TS et = faversot wfa
(B) 1&ATY: ATUAT: TEAH ThYhRoT A Hf |

(C) = ek fafergelen atfvia fopaa

(D) T T Bis: Aokt T3 fohara

Hfgarare ;, TgUTe SR TArT s e fasih wata-
(A) Trferefere (B) Frmmfas
OEEEE (D) TR

YT h&d Ta8l; Tt oM &9 SN0 31 TSeaHl I SEel giaadn vfaa ' ?

(A) STRITS: (B) saframfas:
(C) IS (D) SA&ENHfaY:

TG IV I HHIS -

(A) HRTTH, TR, TG JRe(Hivm, g
(B) HoheTTH, ST, Wrefion, He, TR
(C) TehaTH, TTEIfTHivT, e {HoTs, T, Tgf:
(D) HeheTTH, HeTETIH, TEUIehTom, TRIGH:, T
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77. FIUEHH HRTIRHIGHI SR fo1eqol ol S Reofagia wata-

78.

79.

30.

31.

32.

3.

34.

(A) ArAfsFariaaan: fagm
(C) =eAfaursTa: fagma

o737 fowasrian: fom: 7 yre=a-
(A) SEgfmeTy
(C) IIHATTY

TG add-
(A) = fdeony
(C) T T8 qREhom

“HRET: " g -
(A) ¥
(C) -9

IEE | L R G G BN S B
(A) ST
(C) Tafercafearammg

A RIS TR AT TR o -
(A) TASHRATEAETRAT
(C) Ferfereroreanem:

75" S Tl TR TEATIS Tod -

11 : 45" 3R Fd HHd qHI A -
(A) TR FETY
(C) TS e

(B) shurgarer: fagTd
(D) T9arae fag

(B) GASHICHRITY
(D) FHeraeHeRITY

(B) Had Frierom
(D) Tt s forpen:

(B) A
(D) Aty

(B) S fdfaT
(D) sifierfamem

(B) forerrst=il mamia i
(D) TEista

(B) Ts=
(D) Ts=He

(B) URMgEY dl&TH
(D) HIEETEY aeTq
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85. WYX FATHRYT * 3T=" T foRgAToT T aad -
(A) F@R: (B)T™
©) = (D) wd

86. ‘T’ 3fq ToEd=amul T Idd -

(A) S (B) g<irssq,

Ok (D) 3T
87. ‘BHE: ward 14 fagfd’ saw e uiads $ed -

(A) BRI FHAHA T4 faafd (B) ST Sherd T feeard

(C) SE hetH T3 fered (D) BT hetd A T3 fered
88. *‘aferent el & =l i e Lt § 1" ST AT UERATAS: T -

(A) STifcTeht @ UG, (B) weifa

(C) sifeTent @AW ; UG L&l (D) SfeTepl: @RI : AUga AAd
89. ‘HIR: TacwN v g’ SR IS w9 vfasfd -

(A) =IR: I o oM (B) =R: <9 & oot

(C) BR: TagH o qoamfa (D) =IR: SasT & goumfa
90. oo T g | R T Qe Yok Sarsad -

(A) I=ir: (B) At

(C) vaq (D) =H:
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93.
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SECTION-IV
Qus -1V
MATHEMATICS
TfuTd
There are 30 questions in this section.
All questions are compulsory.
THEUSH FT 30 T E |
ity AfaE T

Find the difference between the largest and smallest five digit number that can be formed using the digits

0,1,2,7,9?

(A) 95931 (B) 86931
(C) 85131 (D) 84420
3Tk 0,1,2,7,9 o FANT | s ATl 9= o] ot Forid ISt o Torld SIS! &A1 ol 3T A1 hl 2
(A) 95931 (B) 86931
(C) 85131 (D) 84420

What will be the remainder when 3'*is divided by 5?

(A)1 (B)2
©)3 (D) 4
3142 Rl 59 AT o W T AU I BT 2

(A) 1 (B) 2
©)3 (D) 4

Which of the following is a false statement-

(A) All whole numbers are integers. (B) The non-recurring turbulent decimal numbers 1s irrational.
(C) Zero is an irrational number. (D) The additive identity of any number 1s '0'.

e 8 9 oroe e B

(A) @it gof T qulies Bt & | (B) STt 7RI SemHere T ST gt ¢ |

(C) I Uk UHT & | (D) Tt «ft T 1 A aemsh '0' BT © |

P.T.O.
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96.

(44) Z

The Expended form of 9090.0909 is-

9 9 9
9000+90+ —+—— 9000490+ —+
(A) 10 1000 (B) 10 10000
9 9 9 9
9000+90+ —+ ——— 9000+90+ —+——
(C) 100 10000 (D) 100 1000
9090.0909 T JHIRd €9 &-
A 9OOO+9O+2+L B 9OOO+9O+2+
( ) 10 1000 ( ) 10 10000
9 9 9 9
9000+90+ —+ ——— 9000+90+ —+——
(C) 100 10000 (D) 100 1000

The value of 24 coins of 25 paise is not equal to-

(A) 1 coin of Rs.2 + 3 coins of Rs.1 + 4 coins of 25 paise

(B) 2 coins of Rs.2 + 1 coin of Rs. 1+ 4 coins of 50 paise

(C) 2 coins of Rs.2 + 1 coin of Rs. 1+ 4 coins of 25 paise

(D) 1 coin of 2 rupees + 2 coins of 1 rupee+ 4 coins of 50 paise

25 T8 % 24 faFh B I SR T 7 -

(A) 2 &93 &1 1 foeemt + 1 &, % 3 faass + 25 38 % 4 faan
(B) 2 &3 % 2 foadh + 1 &, &1 1 foawn + 50 T8 w4 faaen
(C)2®wa % 2 foak + 1 &, &1 1 foawr + 25 T8 w4 faan
(D) 2 &9 1 1 foorhl + 1 &. o1 2 ok + 50 T8 4 faan

The denominator of a fraction 1s more than 3 of the numerator. If 1 is added to both numerator and the
denominator, then the original fraction is changed, to 2/3 then find the original fraction?

4 5
) - B) 5

2 7
© 3 D) 15

forelt frt 1 3¢, oW 0 3 S1fren B 1 At sfwr 1 Sire fean Sie qen 31 off v Sire T sie f qa fir= agae
2 A g ot 0 2

4 5

) - B) 5
2 7

© 3 (D) 15

P.T.O.


https://www.print-driver.com/?demolabel-en

ST-1

97.

98.

99.

100.

(45) z

The correct ascending order of the given numbers is-

3 41 4 1 3
M) 10°15°3 B) 15370
o l3 4 A3l
()31015 ()510’3
TS GRS o 9 SRS shH -

3 41 4 1 3
M) 10°15°3 B) 15370
o l3 4 A3l
()31015 ()5103

Ifn, n+ 10, n + 14 all three are prime numbers, then the number of possible values of n is-

(A)O (B) 1
©)2 (D) 3
n, n+ 10, n + 14 T 197 AT 1 1 n % Fifeaa =i 6t G §-
(A)0 (B) 1
(C)2 (D) 3

Find the least number that divided by 12, 15, 20 and 54 and a remainder of 8 in each case.

(A) 540 (B) 556

(C) 532 (D) 548

9% SIS W SIS W& I e, T8 12,15,20 3R 54 | faafaa +6 WIS Amd 3 8 A9 s=a1 ¢ |
(A) 540 (B) 556

(C) 532 (D) 548

Two numbers are in the ratio 3 : 5. Their LCM is 75. Find out HCM of them.
(A)3 (B)5

(C) 4 (D) 15

U U@ 3 : 5 F ST § g TR ToHoTo 75 ¥ | 37 HoHoTo FN fhsMT |
(A)3 (B)5

(C) 4 (D) 15
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Amit sold an article for Rs.280 at a loss of 20%. Then what was the cost price ?

(A) 224 (B) 340
(C) 350 (D) 380
AT T 20% 1 B I ToRHT &g 1 280 ®. H &=l | & 1 53 Jod 1 o1 ?
(A) 224 (B) 340
(C) 350 (D) 380

If the cost price of 30 articles is equal to the selling price of 25 articles then find the profit or loss?

(A) 20% profit (B) 20% loss

(C) 25% profit (D) 25% profit

30 gt o1 R oo, 25 aegall % foshd e % SReR § W o S7ere 71 % 91 R 7
(A) 20 % ¥ (B) 20 % =11

(C) 25 % ™ (D) 25 % ™

What will be the amount of money 3680 Rs. in 2 years 6 months at the rate of 4 % per annum simple

interest?

(A) Rs.368 (B) Rs.4048.
(C)Rs.172 (D) Rs.3852.

3680 &. i MM 4% FTTHR TR TS i & W2 9 6 AR | Toha a1 ST 2
(A) 368 &. (B) 4048 &.

O) 172 ®. (D) 3852 ®.

The average of the marks obtained by a student in Mathematics, Science and History is 89. If his marks

of language are also added. Then the average decreases to 88.25 then the marks obtained by him in the

language is-
(A) 90 (B) 82
(C) 86 (D) 83

e feremeft grr wiftra, foqm 3R sfaer & e f63 73 3 <1 ofrea 89 @ 1 afe ST Wt W e oft Sirs i <t
g 3iTEd = X 88.25 B1 ST & Al 3Heh GRI Wl H Ut 37ek §-

(A) 90 (B) 82

(C) 86 (D) 83
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V/

105. 34 men can do a part of work in 12 days. So how many people should be employed more so that this work

106.

34 =feaa Tt @m0 12 o1 o o Thd @ 1 < STl foha 3Tk =faa i W ovme <ie fof 9% @ 8 faa |

could be finish in 8 days.
(A) 51 (B) 17
(©)7 (D) 21
AW 1 S|
(A) 51 (B) 17
(©)7 (D) 21
if PO|| RS, ZMXQ =135° and /MYR = 40° v XMy =2
P X Q.
135°
M
P 400 L .
R Y S
(A) 50° (B) 95°
(C) 45° (D) 85°

Il PO ||RS, ZMXQ =135° QA LMYR = 40° @ LXMY =2

P X Q.
135°
M
4 400 L I
R Y S
(A) 50° (B) 95°
(C) 45° (D) 85°
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107. Which of the following is not true-
(A) The sum of complementary anglesis 90°.
(B) The sum of supplementary angles is a right angle.
(C) Two angles of a triangle are always acute angles.
(D) When the transversal intersects two parallel lines, then the alternate angles are equal.
e 8 & we et -
(A) Ik IV AT AT 90° BT T |
(B) Ty hIvi kT AT ek TRV EIAT ¢ |
(C) TS % 1 101 Hed AR T T |
(D) Tal 31 T el <l foefe T shredt & Uehiae Shivr SRR 81d € |

108. The number of persons below 50 years of age for the frequency table given below s -

Age (Year) 20-30 30-40 40-50 50-60 60-70
No. of Persons 8 13 7 9 5
(A)7 (B) 20
(C) 28 (D) 37

e < T SIRreIRar GRelt & faw 50 96 9 w1 31 % ARl H Gen T -

g () 20-30 30-40 40-50 50-60 60-70
SAfHA i & 8 13 7 9 5
(A)7 (B) 20
(C) 28 (D) 37

P.T.O.
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109. In a triangle can be-
(A) two right angles
(C) at most two acute angles
e Fryst § €1 UeRd B
(A) =1 HHHII
(C) 3Aferer & 1feren < =g

110. Find the value of x in the given figure?

(49)

(B) two obtuse angles

(D) three acute angles

(B) 3 SRRl
(D) 1 = ol

D
60°
F
30°
A B
(A) 30° (B) 60° (C) 120°
T T SARfT W x B WA 1 BT 2
C 4
D
60°
F
30 120°
A - 3 >
(A) 30° (B) 60° (C) 120°

(D) 150°

(D) 150°

P.T.O.
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If the perimeter of a rectangle is 34 cm and the diagonal is 13 cm, then what will be its area?

(A) 480 cm? (B) 240 cm?

(C) 120 cm? (D) 60 cm?

IfS Tk T 1 AR 34 Jeft 7 AR forerot 13 Tt T Y ST SRt feRa 2R 2
(A) 480 cm? (B) 240 cm?

(C) 120 cm? (D) 60 cm?

In a field whose length and breadth are 80 meters and 60 meters respectively, a pit 15 meters long, 8
meters wide and 39 meters deep is dug and the sand removed from that pit is laid equaly in the rest of the
field. Then what will be the height of the soil laid in the field?

(A)1m (B) 0.975 m

O)1L5m (D)2m

Teh ©d TSTHh! s o SISk A 80 Hiel 9 60 Hiel & $9H 15 e o, 8 WeX =iel & 39 HeX T8y TSl
QT Sl & 9o 39 TS A Frehreft 7 sy firgh 61 9 @ # war w9 A foret fean s & & ga # foer W g
SR [ B2

(A) 1 HIX (B) 0.975 HreX

(C) 1.5 HieX (D) 2 Hiex

113. Dikshant purchase 12 kgs. vegetables, out of which 4 kg 150 grams are tomatoes, 5 kg 750 grams onions

and the rest are potatoes. Then what is the weight of Potato.

(A)2.100 kg (B) 1.900 kg

(C)2kg (D) 1.500 kg

Sreqid 3 12 o, wesit @i formd & 4 foram 150 T 2R, 5 foRwm 750 T @ o 99 S © | ST A aSH
fopa 7

(A) 2.100 feram (B) 1.900 feram

(C) 2 form (D) 1.500 femm

P.T.O.
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114. With respect to the nature of mathematics which are is not correct -

115.

116.

(A) Mathematics is logical
(B) Mathematics is non-specific
(C) The scope of generalization in mathematics is wide.

(D) mathematics 1s abstract in nature.

TIfOT <t WeRfd o Oy § TE E © -

(A) TfoTe ifeheh 2t &

(B) Tifora erfarfirse &t &

(C) T H TTHT=ATSRT0T T & M9k BIaT &
(D) TfoTd 3T 2t §

Which one is not a problem solving skill in mathematics.

(A) to memorize (B) to interpret
(C) using variables (D) viewing patterns
o H I9 g LT A P TG -

(A) e HET (B) ferer=mT st

(C) =X 1 FANT HTAT (D) Iy <& T

Which teaching aid/methodology would you use to explain that % 1s smaller theni
(A) Number chart (B) Dennis Block

(C) abacus (D) strips of paper

+.- 5 B & o T o fore el fore el o b e e -

(A) T = B HEREIED

(C) 3oy (D) TS F wfeza

P.T.O.
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117. While solving the problem 3¢ 4, the student solved as follows

118.

36
x 4

1224

here -

(A) The student does not have knowledge of the concept of multiplying unit digits.

(B) The student has knowledge of the concept of place value.

(C) The student does not understand the concept of units and tens.

(D) The student got the wrong answer by mistake has an understanding of all the concepts of multiplication.

36x 4 1B B THY faenedt 7 9 YR g TR

36

78t -

(A) fareneif <1 TS TRl <RI T[OT R Y TR HI I &1 € |

(B) faeneff <t Toriar A 5t Sraemon w1 JE 2 |

(C) formeft 1 sl 9 BT Y STAERON o T9e 1EH T

(D) foremeft 7 yerarer Ffequt IR Frepre IV o A Tt STaERMST U T |

'Mathematics 1s the door and key to science.' Who gave this definition?

(A) Carl Friedrich Gauss (B) Comte
(C) Roger Bacon (D) Hogbain
“wifr for o1 GR T it © 1 A wfr fore @2

(A) =d Trsien T (B)

(C) TSR skt (D) Bt

P.T.O.
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119. The false statement regarding the language of mathematics is-
(A) Statements in mathematics are always unambiguous.
(B) The language of mathematics is simple and concise.
(C) The language of mathematics is rhetorical.
(D) The language of mathematics is international or universal.
TIOT St T o e B ST e © -
(A) TIOTG H e TERn STEH BN ¢
(B) 7T =T AT TR & Hierd Sl 2
(C) T <t TS STcTehIfh BIt € |
(D) 7Iford Y T ST A1 Wl odifhes Sl ¢ |

120. The purpose of diagnostic test in mathematics 1s not -
(A) To remove the difficulties in understanding the concepts of mathematics
(B) To know the difference in understanding of children
(C) preparation of progress reports
(D) To do remedial teaching of children
T H SaTeR TireToT Sl 35avd TR ¢ -
(A) TR 1 STEEIROTET A § A Al HEE
(B) SI=di shl THE H ST ol ST
(C) wfa fdre TR et

(D) STl o1 SUARIH TI&101 hEAT

P.T.O.
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SECTION-V
Tug-VvV
ENVIRONMENTAL STUDIES
THEROT 3TeTa

There are 30 questions in this section.
All questions are compulsory.
THEUSH FT 30 T E |
ity AfaE T

With reference to the national song, consider the following statements:
1. Vande Mataram is the national song of India.

2. It was composed by Rabindranath Tagore.

3. It1s written in a mixed language of Sanskrit and Bengali.

4. The melody of the national song cannot be changed.

Truth Code:

(A)1,2and 3 (B) 1,3 and 4
(C)land3 (D) all of the above
g T o ety 7 e et W fomm ifse-

1. % T RA I T T4 2 |

2. SHHT T s S A Y |

3. 9% UGha 9 Siven fafga wm § fomen T g |
4. AT =l ¢ &1 sIgeit S Hehl |

HA < ¢

(A)1,2493 (B)1,3494
(©)133 (D) S7ge weft

The chemical name of Vitamin 'D' is-

(A) Retinol (B) Calciferol

(C) tocopherol (D) naphthoquinone
faerfim ‘&t = TR T -

(A)dfeAta (B) Ficaria
(C)2rhIRla (D) Teeliei

P.T.O.
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The following traffic signal means :

X

(A) Cross Road (B) No Vehicle Parking
(C) Entry Prohibited (D) Road is closed
fpeAifeRa 2TaTaa Heha T 31 -

X
(A) TR (B) wfsiferd are ik
(C) yarwr firer (D) USH I< T |

Which of the following statement is wrong?

(A) Nuclear family consists of only one generation.

(B) Generally joint family has been more prevalent in India.

(C) After the members of the family, we have our closest neighbors.

(D) It 1s necessary to find marital and blood relations in the family.

=1 9 1 HYF e 82

(A) Ut URER | had T WG gl § |

(B) ¥IRd B A= : WY URAR 1 SATeT Wee @IE |
(C)IRER % T=T o 91E FHAR Tod fehe TS 310 2 |
(D)ufaR # dafesh Te o Helell o qrm STHT AT € |

In which spacecraft did Rakesh Sharma make the first space Journey?

(A) Colombia (B) Sputnik 2
(C)Apollo 11 (D) Soyuz T11
TRe v A TR afafer am o gem sfafter |t 2

(A) It (B) Tgdieh 2
(C)31drel 11 (D) 9= <1 11

P.T.O.
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126. What is the safe noise level set by WHO for a city?

127.

(A) 30 decibels (B) 60 decibels
(C) 45 decibels (D) 75 decibels
SquEE! A foret wet o foTw [efar i W fora 7@ o 22

(A)30 SHisIdA (B) 60 edieIa
(C) 45 <diga (D) 75 SHisidA
Who invented the radio?

(A) Guglielmo Marconi (B) JL Baird
(C) Graham Bell (D) Blaise Pascal
s 1 anfashr o foha?

(A) Tferer =it (B) SIue =€
(C)TEH 5 (D) =S Rhdt

128. Which one of the following is not a breed of sheep?

129.

(A) Chokla (C) Sonadi
(C) Malpura (D) Jamnapari
Frefafad § § A T 98 & T T 87

(A) = (B) |t
(ORI (D) ST

The city of havelis and 'Jharokha' in Rajasthan is-

(A) Jodhpur (B) Udaipur
(C) Jaisalmer (D) Jaipur
e § gaferdl 9w & TR -

(A)STETTR (B) 35X
(C) SR (D) SR

P.T.O.
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130. Which of the following is matched?

131.

(A) World Wetlands Day - 12 February (B) World Wildlife Day - 22 May
(C) World Earth Day - 05 June (D) World Water Day - 22 March
Foferfias 1 & P i §2

(A) Torger T feord - 12 Bt (B) forea a=siia faad - 22 w8
(C)forga gealt fee@ - 05 S (D) ford 511 food - 22 W

Which of the following planets has a ring around it?

(A) Napture (B) Venus
(C) Saturn (D) Mars
71 7 9 form T8 % = SR BTl 87

(A) =& (B) Tk
(C) = (D) W

132. Which of the following statement 1s false?

133.

(A) Bachendripal is the first Indian woman to set foot on Everest.
(B) The first Indian woman to climb Mount McKenley 1s Premlata Agarwal.
(C) Woman mountaineer Santosh Yadav was born in Joniyawas village of Haryana.

(D) The youngest Indian woman to climb Everest is Sangeeta Behl.
Frafafed # § s wue eaE §?

(A) TaE T 3T T el J9H TR Afe a5 2 |

(B) WRUE Hehal I g hA AT Yo R Al THerdr e ¢ |
(C)HAfeaT TdaRIET T 21ee 1 <=7 R % i@ e # gam|
(D) To¥ %Y 3Y H Tt Hag i el TRAT Higel T o8 ¢ |

Which of the following forts has been a witness to the Jauhar of Rani Padmini?

(A) Ranthambore fort (B) Kumbhalgarh fort
(C) Mehrangarh Fort (D) Chittorgarh Fort
e & | e gl T aefieT O e el /e ?

(AT g (B) Frerere gt
(C)wrewrTe S (D) ferdrge it

P.T.O.
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Deficiency of which element causes anemia in human body?

(A) Calcium (B) Iron
(C) Nitrogen (D) Zine
foh qat T Tt S RO A TR H wfAfhEn I 2 i § 2

(A) wfeeem (B) 3T
(ORIEER] (D) f5i=

In which districts 1s the National Desert Park located?

(A) Jaisalmer, Jodhpur (B) Jaisalmer, Bikaner
(C) Jaisalmer, Barmer (D) Jodhpur, Barmer
TS Tesa fore forat o feera 872

(A) ST, STEqT (B) SR, ST
(C) ST, STgit (D) STHR, SIS

Which of the following is not correctly matched-

Animal Habitat
(A) Horse - stables
(B) Hen - coop
(C) Spider- hives
(D) Mouse - holes
1 9 & wet gafad 721 8-
SIERS! A
(A) =t - ST
(B) Tt - Tl
(O Eal
Oy - foat

P.T.O.
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In which district is the Mahi Dam located?
(A) Banswara (C) Dungarpur
(C) Udaipur (D) Kota
At e fore forer o feera 272
(A)sitgarer (B) $RE
(C) 3R (D) I

Which folk deity of Rajasthan sacrificed his life to save the cows of Lachha Gujari?

(A) Ramdeviji (B) Hadbhuji

(C) Pabuji (D) Tejaji

TSI o TR Alehaardl = SATST SKI I TR 3l = 7T 319 ol <l eTgfa &2
(A) TSt (B) Tt

(C) s (D) sisit

139. Infertile, marshy and saline land found in desert is called?

140.

(A) khadin (B) run
(C) Barkhan (D) Nebkha
e B Ui ST A SIS, Taae! o aavia i hedrd ¢ 7
(A)TEH (B) @
(C)s@r (D) e

In which year Godavan was declared as the state bird of Rajasthan?

(A) 1963 AD (B) 1985 AD.
(B) 1981 AD (D) 1993 AD.
TETE i fohe e TS o1 T veft =i fopan = 2

(A)1963 3. (B) 1985 %.
(C) 1981 . (D) 1993 3.

P.T.O.
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141. There 1s a tearing tooth in the human mouth-

(A) Incisors (B) Canine
(C) Molars (D) Premolars
e @ T =R Hred oI id 8-

(A)F-dh (B) &
(C)=evish OECEELED

142. In which district Baba Bhartrihari fair is held?

(A) Jaisalmer (B) Dungarpur
(C) Udaipur (D) Alwar

< st e fope vt e $?

(A) ST (B) $RE
(C)S=R (D) TR

143. Tobacco use 1s the main cause of addiction?

(A) ethyl alcohol (B) nicotine alkaloids
(C) papaverine alkaloids (D) diacetyl morphine
T Fo T | T FI TG FHRIT T2

(A)Tfadt TR (B) T Teshatiae

(C) turafid eehaias (D) SRerEd Hitth

144. By what name is shifting agriculture known in North-East India?

(A) Thumming (B) Ponam
(C) podu (D) deeppa
S-St R B Tt H Rl foRm A & ST S R 2
(A)ygfEm (B) W
(OXIEY (D) feom

P.T.O.
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145. The largest digestive gland in the human body is?

146.

147.

(A) Pancreas (C) Liver
(C) parathyroid (D) pineal
TS YR < God SS! ek Ui 872

(A) 3TTRA (B) ad
(C) teTiEe (D) Hifra

Blue print is not an essential element in question paper making.

(A) Marks sheet (B) Teaching Objectives
(C) Subject matter (D) Types of questions
wo o fmir = fife 1 3tmevas e T © -

NEERIINED] (B) fremr 3gew

(C) fawa agg (D) I¥i % TRR

Practical work in environmental education is not characteristic of -
(A) It emphasizes on 'learning by doing'.

(B) It emphasizes on memory based learning.

(C) It develops reasoning power and observation power.

(D) It imparts practical knowledge.
e e # wreifiTes et st fordrar &Y © -

(A) 9% 'k S WA Tl g |

(B) 9 gfa emenfia foreror W oe Sar ¥ |

(C) 398 T wifes 9 Tideror wifes o1 far B 2 1
(D) I AERINE I Y& HLl € |

P.T.O.
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Which of the following is NOT a tool for Formative Assessment of learning in EVS ?

(A) Portfolio (B) Rating scale

(C) Anecdotal records (D) Annual achievement test
frofafed ¥ ¥ A o1 waiaRer 1o B HiEs &l AT STl Sl e T8l ¢ -
(A) TR (B) 5 forefeor aroeft

(C) aviF 1fvera (D) St Iuctfeer qdieqor

Which of the following principle of learning is followed in EVS ?

(A) Global to local (B) Abstract to concrete
(C) Unknown to known (D) Known to unknown
Frafeafea diem & A 9 fagia s e seae § ST e e ?

(A) aifarsh 9 T (B) 373 & 73

(C) 311 ¥ J (D) 1 ¥

The abiotic component of the environment is ?

(A) Parasites (B) Plants
(C) Saprophyte (D) water
TSR T ST HEh © -

(A) TSttt (B) |r<d

(C) gasirsit (D) S
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